If Millikin beats Carroll, North Park beats Augustana, lllinois Wesleyan beats Carthage, North Central
beats Wheaton:

1. Wheaton 11-5
2. North Park 11-5
3. lllinois Wesleyan 11-5
4. Millikin 10-6
5. North Central 8-8
6. Augustana 7-9

Wheaton would earn the No. 1 seed with a 3-1 composite record vs. North Park and lllinois Wesleyan.
North Park and Illinois Wesleyan split during the regular season, but North Park would earn the No. 2
seed with a 1-1 record vs. Wheaton (Illinois Wesleyan was 0-2 vs. the Thunder this season).

If Carroll beats Millikin, Augustana beats North Park, Carthage beats lllinois Wesleyan, Wheaton beats
North Central:

1. Wheaton 12-4
2. North Park 10-6
3. lllinois Wesleyan 10-6
4. Millikin 9-7
5. Augustana 8-8
6. Carthage 7-9

North Park and Illinois Wesleyan split during the regular season, but North Park would earn the No. 2
seed with a 1-1 record vs. Wheaton (lllinois Wesleyan was 0-2 vs. the Thunder this season). North
Central and Carthage split during the regular season, and both will be 0-2 against Wheaton under this
scenario. Carthage would earn the No. 6 seed with a 2-2 composite record against North Park and lllinois
Wesleyan under this scenario (North Central is 1-3 against the Vikings and Titans this season).

If Carroll beats Millikin, Augustana beats North Park, lllinois Wesleyan beats Carthage, North Central
beats Wheaton:

1. Wheaton 11-5
2. lllinois Wesleyan 11-5
3. North Park 10-6
4, Millikin 9-7
5. North Central 8-8
6. Augustana 8-8

Wheaton would earn the No. 1 seed with a 2-0 record vs. lllinois Wesleyan. North Central would earn
the No. 5 seed with a 2-0 record vs. Augustana.

If Millikin beats Carroll, North Park beats Augustana, Carthage beats lllinois Wesleyan, Wheaton beats
North Central:

1. Wheaton 12-4



2. North Park 11-5
3. Millikin 10-6
4. lllinois Wesleyan 10-6
5. North Central 7-9
6. Augustana 7-9

Millikin and lllinois Wesleyan split during the regular season, but Millikin would earn the No. 3 seed with
a 1-1 record vs. Wheaton (lllinois Wesleyan is 0-2 against the Thunder). North Central would earn the
No. 5 seed with a 3-1 composite record vs. Augustana and Carthage. To break the tie between
Augustana and Carthage, since the two teams split during the regular season, the next tiebreaker would
be record vs. Wheaton. Augustana would earn the No. 6 seed with a 1-1 record vs. the Thunder
(Carthage is 0-2 vs. Wheaton this season).

If Millikin beats Carroll, Augustana beats North Park, lllinois Wesleyan beats Carthage, Wheaton beats
North Central:

1. Wheaton 12-4
2. lllinois Wesleyan 11-5
3. Millikin 10-6
4. North Park 10-6
5. Augustana 8-8
6. North Central 7-9

North Park and Millikin split during the regular season and were both 1-1 vs. Wheaton and lllinois
Wesleyan. Millikin would earn the No. 3 seed with a 2-0 record vs. Augustana, while North Park would
be 1-1 vs. Augustana under this scenario.

If Carroll beats Millikin, North Park beats Augustana, Carthage beats lllinois Wesleyan, North Central
beats Wheaton:

1. Wheaton 11-5
2. North Park 11-5
3. lllinois Wesleyan 10-6
4. Millikin 9-7
5. North Central 8-8
6. Carthage 7-9

Wheaton and North Park split during the regular season, but Wheaton would earn the No. 1 seed with a
2-0 record vs. lllinois Wesleyan (North Park is 1-1 vs. the Titans this season). Augustana and Carthage
split during the regular season, and each finished with a composite record of 1-3 vs. Wheaton and North
Park. Both Augustana and Carthage would be 1-1 vs. lllinois Wesleyan, but Carthage would earn the No.
6 seed with a 1-1 record vs. Millikin (Augustana is 0-2 against the Big Blue).

If Millikin beats Carroll, Augustana beats North Park, Carthage beats lllinois Wesleyan, Wheaton beats
North Central:

1. Wheaton 12-4
2. Millikin 10-6



3. North Park 10-6
4. lllinois Wesleyan 10-6
5. Augustana 8-8
6. Carthage 7-9

Illinois Wesleyan, North Park and Millikin all have a composite record of 2-2 against each other. lllinois
Wesleyan would earn the No. 4 seed with an 0-2 record vs. Wheaton. The next step is to break the tie
between Millikin and North Park. Both teams split during the regular season, and finished 1-1 vs.
Wheaton and lllinois Wesleyan. Millikin would earn the No. 2 seed with a 2-0 record vs. Augustana
(North Park would be 1-1 vs. Augustana under this scenario). Both Carthage and North Central split
during the regular season and both will have finished 0-2 against Wheaton under this scenario. Carthage
would earn the No. 6 seed with a composite record of 3-3 vs. Millikin, North Park and Illinois Wesleyan
(North Central is 1-5 vs. those three teams).

If Millikin beats Carroll, North Park beats Augustana, Carthage beats lllinois Wesleyan, North Central
beats Wheaton:

1. Wheaton 11-5
2. North Park 11-5
3. Millikin 10-6
4. |lllinois Wesleyan 10-6
5. North Central 8-8
6. Carthage 7-9

Wheaton and North Park finished 1-1 during the regular season, but Wheaton would earn the No. 1
seed with a 3-1 composite record against lllinois Wesleyan and Millikin (North Park is 2-2 vs. the Titans
and Big Blue). Illinois Wesleyan and Millikin finished 1-1 during the regular season, but Millikin would
earn the No. 3 seed with a 2-2 composite record vs. Wheaton and North Park (lllinois Wesleyan was 1-3
vs. the Thunder and Vikings). Augustana and Carthage finished 1-1 during the regular season, and both
teams will have 1-3 composite records vs. Wheaton and North Park. Carthage would earn the No. 6 seed
with a 2-2 composite record vs. Millikin and Illinois Wesleyan (Augustana is 1-3 vs. the Big Blue and
Titans).

If Millikin beats Carroll, North Park beats Augustana, lllinois Wesleyan beats Carthage, Wheaton beats
North Central:

1. Wheaton 12-4
2. North Park 11-5
3. lllinois Wesleyan 11-5
4. Millikin 10-6
5. North Central 7-9
6. Augustana 7-9

North Park and lllinois Wesleyan split during the regular season, but North Park would earn the No. 2
seed due to a 1-1 record vs. Wheaton (lllinois Wesleyan is 0-2 vs. the Thunder). North Central was 2-0
vs. Augustana during the regular season, which gives them the No. 5 seed.






